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NOTE

1 This paper has Five sections, Physics: Q. No. 01 to 30,
Chemistry: Q. No. 31 to 60, Botany: Q.No. 61 to 90, .
Zoology: Q. No. 91 to 120 and English : Q. No. 121 to 150.

2 This question booklet contains 150 questions numbered from 1 to 150 and
each question carry 01 mark. All questions are compulsory. There is no
negative marking.

3 Tally the number of pages alongwith no. of questions printed on cover
page of the booklet. Also check that question booklet contains the questions
of all relevant subjects/topics, as required and stated above and no repetition
or omission of questions is evident.

4 If any discrepancy is found in the Question booklet the same can be.
replaced with another correct question booklet within first 15 minutes.

5 Before answering the questions please read carefullythe instructions printed
on the back cover page of the question booklet and strictly follow them.
Indicate your answers by blacking bubbles carefully only on the
O.M.R. Answer Sheet provided. . ,.

6 Use of any type of calculator, mobilephone or any other electronic equipment
and log table etc. is strictly prohibited.
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1 Which of the following pairs make imaginary and erect image of an object
in all situations of object ?
(A) convex lens and concave lens .
(B) concave lens and convex mirror /I

(C) convex mirror and concave mirror
(D) convex lens and concave mirror
~ .q: ctrr m·~ ~ cCr ri ~13lT t ft;r4 .~ q)f ~trr elm i3ITlmft
!Jlfa~~ ~ ~ ? .
(A) Irffiif ~ elm ~ ~
(B) ~. ~ elm \ffi\i'r crfaT

(C) Irffiif crfaT elm ~ ~
(D) Irffiif ~ elm ~ crfaT

2 The wavelength of lines of characteristic X-ray spectrum changes with the
(A) energy of incident electrons
(B) flux of incident electron
(C) thickness of the target
(D) material of the target
X-~ ~ ~ ~~ ~ ctr wan ctr d<JI~t4 ~ ~,
~TR'

(A) ~ ~~%11 ctr ~

(B) ~ ~~%11 q)f .~ (1:f)W.ffi)

(C) ~~ cCr ~
(D) ~~ q)f WJ~

3 Myopia, hypermetropia and astigmatism can be corrected by usmg m
respective order
(A) convex, concave and cylindrical lenses
(B) convex, cylindrical and concave lenses
(C) concave, convex and. cylindrical lenses
(D) cylindrical, convex and concave lenses

~-~ ~,. cfrd-~ ~ elm >3l~$C6dl (qfkJIt,Q\T'"I) q;) ~ t ~~T:
~tt)'"II(T1 -« ~ ~ i1fT ~ ~ I

(A) \ffi\i'r, ~ elm ~(T111i'.fmA ~
(B) ~, ~'(T11"C61{elm ~ A ~
(C) ~,Irffiif elm ~M11C61{ ~ -«

(D) ~(Y111C61{,~ elm ~ ~ ~
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4 A neutral water vapor molecule has an electric dipole-moment of
6.2xlO-30cm. The separation between the positive and negative charges
in the molecule (H20) is approximately ,
(A) 2xlO-lOm (B) 2xlO-12m

(C) 4xlO-lOm (D) 4xlO-12m

~ ~t ~ I3Gl~'H i3fOjq;r ~-~ .~ 6.2xlO-30 em ~ I ~
3fR. :ti0Il~'"Iq)~~iT ctt· ~ H20 ti3fOj -q "WNTr ~ .

(A) 2xlO-lOm (B) 2XIO~12I11

5 A parallel plate capacitor is connected to a battery. What change in the
magnitude of the charge on the plates 'will take place if the separation
between them is reduced ?

(A) increase (B) decrease

(C) remain same (D) become zero

~ ('I'"II'1HH% ~mfUrCfiT ~ ~ ~ ~ \jffffi ~ I ~.m ~ ~~l
t qf{'"Ilol -q ~ Qf{Qd'1 ~ ~. ~ ~ ctt ~ "ERr -&T ~ ?
(A) ~ (B) ~

(C) qfr ~ (D) ~~ ~ .~

6 The rotational and translational kinetic energies of a spherical object of
radius R, massM and moment of inertia 1, rolling smoothly on a plane
surface with. speed v are -

..
2 M2Iv v .

(A)
2R2 ' 2

(C)
Mv2 Mv2

2R ' 2

(B)

(D) None of these

R~, M ~oq'"lI'1CftrT I ~ ~. q;r ~ ~n('jIq)1(f4ug ~ ~ -ma
"ffiif ~ v 7ffu-e- ~:m ~I W f4ug ctt ~ CftrT ~1'1H1fltl .~ ~

~~l: ~

Iv2 Mv2 IRv2 Mv2
(A)

2R2 ' 2
(B)

2
,

2

(C)
Mv2 Mv2

(D) I3QgCfd -q~. ~ ~--
2R ' 2
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7 In thedepletion=layer of a P-N junction there are
(A) only free electrons
(B) only free holes
(C) only immobile protons
(D) only fixed positive and negative ions

P-N ~~R ~ &Cf&W 1:ffif ~ -m- \"
(A) ~ Wffi~~~I"1

(B) ~ ~ ~

(C) ~~~.

(D) ~ ~_ ~ (fen ::jfolll:JiCb ~

8 Two similarwires have tension of 16 Nand T, produce 5 beats. The value
of T in Newton is
(A) 49

(C) 81

~~m\~'ll"\CPllCr
T tfif lfR -~ ~. \"

(A) 49

(C) 81

(B) 64

(D) 100

16 N a-en T t 5 ~ ~ m %.1

(B) 64

(D) 100
,.J

9 According to Bohr's model the quantum number 11, I and mI can have values

~-~ t ~qql""lJi .~ n, I a-en ml 'Cb'T lfR m ~ t
(A) 11 ~ 0, 1, 2, 3 .

I ==> -1, 0, 1, 2, 11

ml ==> 0, 1, 2, 3 .

(B) 11 ~ 1, 2, J .

I ==>. 0,1, 2, 3 (n-1)

ml -_~ -I, -(1-1), -(/-2) + (1-1), +1

(C) 11 ~ 0, 1,2, 3 .

I ==> 0, 1, 2, 3 ·..11
ml ~ -I, -(1-1), -(/-2) + (1-1), +1

(D) 11 ==> 0,1, 2, 3 .
I ~ -n, -(n-l) fl

ml ~ -1,-(1-1) + (1-1), +1
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10 Magnitude of a uniform magnetic field B(t)is. shown in the figure. The
magnetic field is linked to a circular coil perpendicular to the plane of
the coil. The' coil is of a conducting material. For which part shown in
the figure, the induced current. in the coil will be minimum ?

B(t)j

t----+

(Aj for a (B) for b
(C) for c (D) for a and c both
~ l{itfl'iI'1 ~~Cfil~ ~ B(t) CfiT q!l:IOJIOI ~ -q G:~WnlFfr t I ~ ~~c61~
~ ~ era (it I< ~ ~ -q ~ i3TIt ~. mwrt ('I4lICI<t, ~ t I
ftBr -q ~ ~ 'qJlT t ~ ~. -q. ~ ~ mTI. ~ Wft ?

B(t)j

(A) a t ~
(C) c t ~

(B) b t ~
(D) a atTT cG:FtT t ~

11 Which of the following is the statement of Lenz's law?
(A) The induced emf in a circuit is numerically equal to the rate of change

of the magnetic flux through it.
(B) The direction of art induced current is such as to oppose the cause

producing it.
(C) The electric flux through a surface is proportional to the net number

of electric field. lines passing through the surface.
(D) The' Fermi e_nergy of a given material is the energy of a quantum

state that has the probability 0.5 of being occupied by an electron.
~. ClCffiai'i -q Cffr.Tm ~ cpr ~ ~ ?
(A) ~. "4fttr~. -q ~ ~. qm ~ q!l:lOJlOI -q' \fflCR1 -q q!l:Cld1 c#r

.G:"{ t ~ mar ~ I
(B) mt=r um c#r ~~n ~. WfIT( ~ ~ ~ urrr cpr ~Qjfc6)~ ~mcr \rtf

qFtc! ct1 Cfil terU~Cf){'ffi ~. \ill ~ ~ Cfi«fI ~ I .
(C) M·~ -q -e- ~ crnrrr ~ ..~ ijlOJI1Qfdl mar ~ ~ -q -e-

~~~~=nsn~t I
(D) M lfGJ~ .t ~ m ~ \rtf ~1;:C:lOJ ~c#r ~~ ~ ~

-q ~&)Cf?;11 t ~ ~.c#r ~ 0.5 t



12 In how much time 32 kg of a radioactive material will be reduced to
1 kg if the half life of the material is 4 s ?
(A) 64 s (B) 40 s
(e) 20s (D) 16 s
4 s \3l~-~ CITffi32 kg ~ ~ ~~ ~ ~ it Lkg TI! ~
(A) 64 s (B) 40 s
(e) 20 s. (D) 16 s

13 Isobar nuclei have same number of
(A) Protons (B) Neutrons
(e) Electrons (D) Nucleons
wrmfr ~ it w:wr ~ mr t
(A) ~. cCr (B) ~ ~
(e) ~~«1,·1'icCr (D) ~~ cCr

14 To convert mechanical energy into electrical energy one uses
. (A) Rectifier (B) Inverter
(e) Transformer (D) Dynamo
~ ~ qIT ~-~ it qf{qRfCf m t ~ ~ WIT~·

(A) R~Cblft (B) ~

15 An ideal voltmeter is connected to points band d of a Wheatstone's bridge
circuit as shown in the figure. The reading of the voltmeter and the positive
terminal of the voltmeter will be connected to

b

d

L...-_+-II/ 1-_----1

7.5V

(A) 5V; with d (B) 5V; with b
,(e) 2.SV; with d (D) 2.5V; with b
~ it G:~~ etTltiH ~ 1Jfttr~it b O"tlT d ~ t ~~~~t cihV:lk {
~ t I f61l~T: q,,,,,,lJ:f/l{ qrr qrcmiCb .afRq,,,,,,lJ:f/l{ qrr ~ ftm '¥f ~
(A) SY, d ~ (B) SY, b ~
(e) 2.SY, d ~ (0) 2.SY, b ~

8 (Contd ...



16 Pick the statement that is true

(A) When a high resistance is connected in series to a galvanometer it
becomes a voltmeter. Voltmeter is used to measure potential difference
between two points in an electric circuit.

(B) When a very low resistance is connected in parallel to a galvanometer
it becomes .a voltmeter. It can now measure potential difference
between two points in a circuit if connected" in series.

(C) An ammeter can be converted into a voltmeter by connecting a small
resistance in series.

(D) A voltmeter may be converted into an ammeter by connecting a very
low resistance in series.

~ Cf)eFf q;) ~

(A) Wi~· ~~~ll~~{ it ~ ~ ~~ ~ ~ it ~ IJfTffi ~ aT
~ q'(R:~~{ ~ IJfTffi ~ I cil!;l"~~~{ ~ ~~ it m- ~® ~.~
~ -ntR ~ q)Jl{ \ffiffi ~ I

(B) Wi M ~~"1,4k{ it ('IJiI~{~ it ~ ~ ~~.~ IJfTffi

~ aT ~ cih~~c{ ~1JfTffi ~ I ~ ~ ~~ it ~ m- ~®
t .~~'iql~{ .~ ~ ~ iWIT M ~ it ~ ~ ~ aT I

(C) ~ ~ ~ ~ ~ ~~ ~ ~ it ~ n :iffi q'!;I"~~~{

it~i1fT~~ I

(D) ~ q)I!;I"~~~<~ ~ ~ ~~ ~ R>1lit ~ ~ ~ it ~
i1fT~t I

17 The resistances of two bulbs of 100 Wand 200 W working at same voltage
are in the ratio

(A) 1:2

(C) '1:4

100 W am
q)f ~ ~

(A) 1:2

. (C) . 1:4

(B) 2:1

(D) 4:1

200 W ~ WlFf'~· lIT· C6Ff' ~ ~ ~ ~ ~m

(B) 2: 1

(D) 4:1

9 [Contd ...



18 For the stationary wave

y = -lsin]. ~; )COS(961tt)

[Contd ...

where y and x are in ern and t in second, the distance between a node
and the nearestantinode is

(AY 30 ern

(C) 15.0 em

y = 4 sin (1tX)COS(961tt)
15 .

(B) 22.5 em

(D) 7.5 em

~ x am y ~.lfr. am t ~ if t if ~ ~ am ~ 1fR1 qffi .
~t~~~

(A) 30~.

(C) 15.0~.

(B) 22:5~.

(D) 7.5~.

19 Which of the follow~ng has not been given in proper units?

(A) Surface tension = N/m

(C)
. Stress = N/m2
Strain

(B) Energy = Kg- m/s

. (D) Pressure = N/m2·

(A) ~ Cf'1"lq = ~/1fr

(C)

(i ..'~;-~-f'>

(B) wri = ~. lfr/~

(D) ~ = ~/lfr2

10



(A) 25 km/h (B) 50 km/h

20 A man on a motorcycle is moving eastwards with a speed of 25 km/h.
He observes a train which appears to be moving with the velocity of

25Jj km/h in the North direction. The magnitude of the real velocity of

the train is

(A) 25 km/h (B) 50 km/h

(0) 100 kmIh(C) 75 km/h

~ ~ lIR:\ (11~Cbtt1 -« 25 km/h c6l ~ -« l{cf c6l ~ iffl W t I

~ ?&1~ (W lIil 25Jj kmlh ~ -« iffl\ c6l ~ '\3ffiit vtfur ~ i I
{Wllil C5T ('mdPclCb ~ C6T qrt"lIUI i

(C) 75 kmlh (D) 100 kmlh

21 A man is standing with folded hands at -the centre of a platform rotating
about its central axis. .The kinetic enes~ of the system is Ek The man
now stretches his arms so that the htof'ent· of inertia of the system doubles.

The kinetic energy of the system now is

(B) EJ2

(C) EJ4

~ ~ ~ I3lU ~ "CITU ~ ~ ~ ~lQ)14 ~ ~ 'tf{ lIer ~

CfR·~ t I ~ ~ c6l ~ ~ Eki I I3lri ~ I3ltA mm ?&1
l€RT ~ t fcn ~ C5T ~ ~ GT ~·m \lfTffi t I ~c6l.
~~~t-

(B) EJ2

13IDRS~A,....A] 11 [Contd•••



22 A 100 kg body falls from infinity on the surface of Earth. If the radius

of Earth is 6.4 x 106 m and the value of g at its surface.TO mJs2; the

kinetic energy of the body on reaching. the surface. of Earth is

(A) 64.0 x 109 J

(C) 16.0 x 109 J

(B) 32.0 x 109 J

(D) '6.4 x 109 J

-qq; 100 kg q;r ~ ~ -q,,~~ ~.~ 1R ftmrr ~I ~ ~~ cCr ~
6.4 x 106 m tferT ~~ 'ffiif lIT g q;r 1lR lOmJs2 m- aT ~ ~ ~~
'ffiif 1R ~ 1R ~ ~ M'.

(A) 64.0 x 109 J

(C) 16.0 x 109 J

(B) 32.0 x 109 J

(Dr 6.4 x 109 J

23 The displacement, acceleration and time period of a body executing simple

harmonic motion are respectively .x, y? and T. Then

(A) T=21tJ¥

1J¥(C) T=- -
21t Y

(8) T=21t~

(D) T = _1 .JxY
21t

~ .;mcffi Tffu ~ ~ ~ m q;r ~ x, ~ Y tferT -3lICldCbI(f1

T ~ I aT

(A) T=21t FVy

1 J¥'x(C) T=--
21t Y

(B) T=21t~

. 1
(D). T=-Fi

21t

[Gontd ..•
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24 A particle executing simple harmonic motion has the displacement equation

y= 0.02sinl~01t(t+0.00~) where time t is in second. The frequency

. of vibrations of the particle (in number of vibrations per second) is

(A) 25

(C) 100

(B) 50

(D) 200

.tr«'f 00CRf TTfum~ Cf)lJT C6l ~ (14'1C6(OI Y = 0.02sinl001t(t+0.00S)

~ I ~ ~ t ~ ~. ~ I C6UT qft ~ (~ ~ ~ ~) ~

(A) 25 (B) 50

(C) 100 (D) 200

25 A particle is placed at origin and a force F = kx is acting on it, where
k is a positive constant. If the potential energy at origin U(O)=O, the graph
of u(x), the potential energy function is as shown in

~ ?fi1JT. ~ ~. 1ft fttrff ~ afrt iffi 1ft ~ F = kx ~ -m ~ (~ k

~ ~ ~qdlC6 ~) I iWR Cf)lJT qft ~RNI ~ lFf ~ 1ft U(O)=O,

u(x) cr xt ~ mq; ~

u(x).

(A) (B)

It

u(x)

(D)
.u(x)~
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26 At what temperature volume of an ideal gas at OOC becomes four times
at constant pressure ?

(A) 542°C 08) 819°C
(C) 1092°C (D) IJ.65°C
~ cnq "tIT OOC c€r ~~f ~ C6T ~ ~ GTGr "tIT 4 "TIT ~ ~?

(A) 542°C 08) 819°C

27 Young's modulus, area of cross section, and length of a wire are f, A and
L. Work done in increasing the length of the wire by x is

fAx fAx2
(A) 2L2 08) --

2L

fAx2 fAx
(C) -- (D)

L 2L

~ "ffi'\ C6T ~ ~, ~ qfh8& C6T ~ Cftrr ~ R)tJ~T: f, A
~ L ~ I"ffi'\ c€r ~ x ~ ~ fcnm 1Wf CfiTlf ~

YAx fAx2
(A) 2L2 (B) --

2L

fAx2 fAx
(C) -- (D)

L 2L

.28 A big drop of a liquid splits into 27 equal drops. The pressure of small
drop in comparison to that of the big drop is

1
(A) 3' times

. 1
.08) 2 times

(C) 3 times (D) 2 times

~ c€r ~ "rir ta: 27 WWf -mi'r ten ~ ¥ 'G'fffir ~ I -mi'r ta: C6T ~
"rir ta: t ~ t a~~ ~

1
(A) 3'"TIT

(C) 3'"TIT

13/DRSPA_A]
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29 The temperature of 10 moles ofa.gas is raised from 100°C to 120°C which

changed. the intemal energy oftbe gas by ·}.()O J.. The molar specific heat

of the gas in ( __1-.'K) unit ismole -

(A) 16.0 (B) 8.0
(C) 0.8 (D) 0.4
~~t 10 ~ q)f .WI" 100°C ~ 120°C ~ "tf\ .~ cCr .3j1~f{Cf) ~

160 J "" "fRfr ~ I iRl· <€r ~ ~ i»"IT (:. K) ~ ii t
(A) 16.0
(C) 0.8

(B) 8.0
.(D) 0.4

30 P-V graphs for two gases during adiabatic processes are shown in .the figure.
Curves (a) and (b) corresponds respectively- to

p

i
'~(a)

V~

(A) (a) for He and (b) for 02
. (B) (a) for 02 and (b) for He
(C) (a) for He and (b) for Ar
(D) (a) for 02 and (b) for N2
~.~ t ~ 'e.T ~ t P-V mtn· ftBr if ~ ~ ~I
CfR)- (a) (I'm (b) Wffi ~

P

i
\~~a),,~

V~

(A) (a) He t ~ i3fR (b) 02 t ~
(B) (a) 02 t ~ i3fR (b) He t ~
(C) (a) He t ~ i3fR (b) Ar t ~
(D) (a) 02 t ~ i3fR (b) N2 t ~
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31 The least effective protective colloid is :

(A) Gelatin (B) Egg albumin

(C) Gum arabic (D) Potato starch •

~ Cf)l{ ~~ ~~ Cf)'(ifl~a ~

(A) ~~fl'1 (B) I3ts q(iG4J~'1

(C) T(1=f ~ (D) ~~

32 During extraction of copper from copper pyrites, the slag obtained mainly
contains :

(A) CaSi03

(C) FeSi03

(B) CuSi03

(D) Na2Si03

q)Jtf"( ql~<I~?,e -€I" CFil1n t PltSCb~OI -it' ~ ~ -it' ~: mar ~

(A) CaSi03 (B) CuSi03

(C) FeSi03

33 Electron affinity is highest for the following

(A) F (B) CI

(C) Br CD) I

~~CF?;I'1~ ~ t ~ ~ mcfr ~
(A) F (B) CI•
(C) Bt . (D) I

34 Hydrogen helide which has highest boiling point

(A) HF

(C) HBr

(B) HCI

(D) HI

(A) HF

(C) HBr

(B) HCI

(D) HI

(Contd .•.



35 Metal when reacts with cone. H2S04, does not liberate hydrogen gas:
I

(A) Na (B) Mg
(C) At (D) Cu
~ il1T"«RI: H2S04 -« 13t~R6t11 Cf)( &1~i'liI'1 ~ "1'ff .~ t
(A) Na (B) Mg

(C) Al . (D) Cu

. I

36 Example of an organometallic compound is :
(A) Mg(OC2HSh (B) C6HsONa
(C) N(CH3h (D)Si(CH3)4

~Cf)I.~IRctCf) ~ C6T 13&1&(01 t :
(A) Mg(OC2HSh (B) .C6HsONa
(C) N(CH3h (D) Si(CH3)4

37 An example of ambidentate ligand is :

(A) S02- (B) NO-
4 3

(C) C02- (D) NO-
3 2

13'1t1&i1Cb ~ C6T ~ 13&1&(°1 t

(A) S02- (B) NO-
4 . 3

.. (C) C02- (D) NO-
3 2

38 In flame test the colour of flame for Ca is :
(A) Green ~ (B) Yellowish green
(C) Brick red , (D) Crimson red,
~ mtfffUT' -q Ca t ftirq ~ ~ t :
(A) ~ .(B) ~ ~

(C) .~ ~ \iffiif (D) ~ ~ \iffiif

39 Hybridization of carbon in benzene is same as in :
(A) Methane (B) Ethane
(C) Ethene (D) Ethyne
~-q·~~~~f¥oft~t
(A) .q~ (B) ~~

(C) ~efA (D) ~~

19 [Coatd •.•



40 Select hydrocarbon with acidic nature : .

(A) Ethene

(C) 2-Butyne

~ ~ qffi

(A) ~~

(B) I-Butyne

(1)) l-Butyne and 2-Butyne

~1~~ICfmf'1C6T~ ~ :

(B) 1-S!!\C:1~'1

(D) 1-&!{C:1~'1Cf~ 2-&!{C:1~'1

41 Which of the following is most reactive towards nucleophilic substitution?

(A) C2H5F

(C) C2H5Br

(B) C2H5CI

\ (D) C2H5I

(A) C2H5F

(C) C2H5Br

(B) C2H5CI

. (D) C2H5I

42 The compound which does not give iodoform test is :,
(A) .2-butanone

(C) 3-pentanone

(B) 2-peIitanone

(D) propanone

(A) 2-&!{~11'1 (B) 2-qo:t'11'1

(C) 3 -q o:t11'1 (D) !Ji'jq '11'1

43 Which of the following compounds is least basic in nature ?

(C) (C2H5hNH (D) p-N02-C6'H4NH2

~-q-«~m~~~~C6T~~ ?

(A) C6H5NH2 (B) C2H5NH2.
I

20 [CoRtd...
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44 Compound which exists as a· dimer :

(A) Acetone

(C) Acetic. acid

(B) Acetaldehyde

(0) Acetonitrile

(A) Q(fJ2:1~

(C) Q~ftCb ~
(B) Q~l~&I~e

(0) Q~iHI~~(iI

45 .X
HN02 Y NaOH Blue colour

.X in the above reactions is

(A) R-CH2N02 (B) R2CHN02
(C) R3CN02 (0) C6H5N02

X'
HN02 Y NaOH ofMT, "M

I3q ('1Cf'd at ftI R641i3lT -q X ~

(A) R-CH2NOi (B) R2CHN02
(C) R3CN02 (0) C6H5N02

46 Monomer of Teflon is

(A) Vinylfluoride (B) Isoprene

(C) Tetrafluoroethene (0) Chloroprene .

~q;r~~ ..
(A) <:H~Pt(il ~~ (B)

"\ t>
13t1~t1I~I~

(C) l?( 1Cf"J\ll1;~ . (0) "'\ "'\ t)

CRi11(f ~I'1

47 An example of deoxy-sugar is :

(A) Fructose (B) Glucose

(C) Rhamnose (0) Sorbose'

~13tTcRfr---'~lCi;n;'CbT ~ 13&18 (01 ~

(A) Sf)ctilij (B) ~

(C) ~ 0' (0) ~

•



48 Magnetic quantum number for 4s orbital is :

(A) 4 (B)-4

(C) 1 (D) 0

4s .~ t ~ =rl~r:;:r~::rh-rq qql;:Z't ~ CfiT1Wf t
(A) 4

(C) . 1

(B) -4

(D) 0

49 Example of intramolecular hydrogen bonding is :

(A) p-chlorophenol (B) o-chlorophenol

(C) p-dichlorobenzene (D) o-dichlorobenzene

~:~ i?1~~"\1'l1*1~ CfiT I3GIi?(UI t :
(A) p--<m"\1()Rb*lltfl (B) 0 f#(1 ()fq,"II(if

(C) p--"$I~#I"\I ()~'1l11*1 (D) <HS1~#I"\dl~'Il1I'\H

50 The most stable species is :

(A) O2 (B) 02-
2

(C) 0- (D) 02+
2 2

~~ Wl(f)i1I t
(A) O2 (B) 02-2

(C) 0- (D) 02+
2 2

51 Amount of NaOH present in 0.5 litre of 0.2 N solution is :

(A) 16 gm (B) 4 gm

(C) 32 gm (0) 8 gm

0.2 N ~(tf~*I t 0.5 ftrR:t it ~ NaOH r€r l{BIT -wfi
(A) 16 mq

(C) 32"ID1l

(B) 4 !WI'

(D) 8 !WI'

22
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52 The limiting radius ratio for coordination number six is
(A) 0.155 - 0.225 (B) 0.225 - 0.414
(C) 0.414 - 0.732 (D) 0.732 - '0.999
~P"l~tI ~ 6'~~. lfr:rta ~ ~ ~ :
(A) 0.155 - 0.225 (B) 0.225 - 0.414
(C) 0.414 - 0.732 (D) 0.732 - 0.999

53 Acidic solutions whose pH values are similar:

(A) MH SO and MHCI10 2 4 10

(B) ~ H2S04 and ~ HCI

(C) M HCl and M CH3'COOH
10 10

M M
(D) -H2S04 and -HCI5 10

if ~ ~ ~ pH C6l lfFf wrR ~

MM
(A) 10H2SO 4 a~ 10HCl

M· M
(B) -H2S04 a~ -. HCI

10 5

M M
(C) IoHCI a~ IoCH3COOH

M M
(D) 5H2S04,""a~ WHCI

54 Select the equilibrium for which K >K :
p c

(C) N204 ~2N02 (D) N2\+02 ~2NO

ml<:f ~ ftrt<) K >K m, ~ :.
p c

(A) N2 +3H2 ~ 2~

(C) N204 ~2N02
"ti

(D) N2 +02 ~2NO

23 [Contd...
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55 Which of the following is the strongest base ?

(A) F- (B) el-

(e) Br- (D) 1-

~ -q -e- ~~SO\t{(i1(1~

(A) F- (B) Cl-

(e) Br- (D) 1-

56 The value of pH is zero. for :

N
(A) 10 nci (B) 1 N Hel

(e) 10 N net (D) H2O

~ ~ fuQ; pH q;r l{R ~~ Wrr

N
1 N nci(A) 10 no (B)

(e) 10 N net (D) H2O

57 For which reaction the value of ASo is negative ?



•
58 Increase in temperature :

(A) Increases the rate of a reaction only

(B) Increases the rate constant only

(C) Decreases the rate constant only

(D) Increases the rate of reaction and rate constant

Cfftf~ ~ -« :

(A) tcror ~ ~ U i( ~ mat t-
'(B) tcror ~ ~t lfR i( ~ mat t-
(C) tcror ~ ~t lfR i( ~ mat t-
(D) ~ ..~ u i( am ~ furocn·i( ~ mat t-

59 Select the compound in which oxidation state of carbon is zero

(A) CH4

(C) CH2Ch

(B) CH3CI

(D) CCl4

(A) CH4

(C) CH2Cl2

(B) . CH3CI

(D) CCl4

.. .
60 Calculate the equivalent conductance of NH40H at infinite dilution, when

A ( ) = 130; A (. ) = 174; A.( ) =·66
00 NH4CI C>OOH- , 00 CI-.

(A) 304

(C) 238

(B) 240

(D) 196

A (.. . ) =130; A ( ) = 174; A ( ) = 66
00 NH4Cl . 00 OH- 00 Cl"

. (A) 304

(C) 238

(B) 240

(D) 196
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61 Clones of plants can be produced by
(A) Sexual reproduction (B) Hybridization
(C) Vegetative reproduction (0) Mutational breeding
-qra:qlt ~ ~ ijfffi t-
(A) ~."\1fOR IDU

(C) ~"\1fOR IDU

(B) ~ am
(0) \jc;qf{ClJ'1~~_~ IDU

62 Formation of 2n embryo sac from 2n vegetative structures like
nucellus and integuments without meiosis is called
(A) Diplospory (B) Apospory
(C) Adventitious polyembryony (D) Apomixis

~ ~ ~ t ~~fOld -~ ~13TI ~ ~ ~iillogCf)l~ o~
-3lttrfCr{11T IDU fA~fOld ~l ~ t _~.en) ~ -t-

(A) ~~fOld <Sj'>jiill'1dl (B) -i3N <Sj~iill'1dl

(C) ~ ~~(O) 3l(4Jliil11

63 Synergids are normally
(A) Haploids - (B) Diploids
(C) Diploids after fertilization (D) Triploid after fertilization
flIJOII;:qd: fI~l~etl ~TCfllt-

(A) ~ (B) fu~fOld

(C) ~ t ~ fu~fOld (D) ~t~ lSI~fOld

64 Richmond-lang effect is shown by
(A) Auxins (B) Gibberellins
(C) Kinetins (D) Sugars
f{:qJiog ~ ~mcr~fu" mcn- t-

(A) ~'1f1 IDU (B) fG1&S("{J11IDU'"'
(C) etll~1l1f1 IDU (D) ~l?hr &RT

'"'

65 Pneumatophores show :
(A) Positive geotropism
(C) Thigmatropism

~~fu"~t-
(A) fletll<l~etl _~()(CIljClJ"'f

. (C) ~~lljqd1-

13IDRSPA_AJ

(B) Negative geotropism
(D) Positive phototropism

(B) 3tt°Il~etl ~()(CIljClJ1

(D) ('IC61{kJOIetl>rCflT~lIjCld1
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66 ,Why some hydrophytes disappear from pond during summer season ?
'(A) Too much light is harmful
(B) They moves to shady' places
(C) Evaporation of water kills the plants
(D) High temperature reduces CO2 content of water, reducing net primary

productivity
~ ~ t ~. 1J1(i1")I(iJ~~~ ~ ~'~~. ~ ~ t ?
(A) ~ w.6T~ljcM1I1~& t
(B) ~ 81~1c{IC ~ lIT ~ ~ t
(C) tWft q;-r eW41C6(01 ~ "C6l 1ffi ~ t
(D) ~ 0Ttt ~ -q CO2 c6T -qoo"C6lq)lf qmrr t,~~ m~ i3NIc{C6dl

~~'t

67 A desert can be converted into greenland by planting:
(A) Halophytes
(C) Psammophytes
~ "Utf1lT ~ '{f)ltttI1

( A) (ff CI °I1ci1<i:~<i:
(C). cs(ltlqi)<;,~

. 68 The pigment that protects the plant from damage by UV radiation is :
. (A) Chlorophyll (B) Xanthophylls
(C) Phycocyanin (0) Carotenoids
~ "C6l Uv ~Pch {Ori ~ ~ crwrr qufq; t
(A) mo ~ (B) w-~
(C) l61~Cf)")I('II~Pl1 (0) 2b):!!'1)~g

69 With global warming there will be. change in the pattern of :
(A) Precipitation
(C) Respiration
\{qogMt~ .i3iSiflC6:{OI

(A) ~
(C) ~Cffi'1"

(B) Flowering
(0) Seed. germination

~ llltT ~. -q .Qf{Cld1 mrr t
(B) ~
(0) ~~

70 Which is the endangered plant species ?
(A) Ocimum sanctum (B) Avena sativa

. (C) Commiphora wightii (0) Tephrosia purpurea
~ ~ ~'~C6G!lttt ~ ~t ?
(A) .aikfrqq ~ (B) ~ tl2f$ql

(C)(b)~q;)a ~ (0) 2lbdftl41 Q<'ifi,41
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71 Anthesis is a phenomenon which refers to :
(A) Formation of pollen (B) Development of anther

(C) Opening of flower bud (D) Reception of pollen by stigma

q (pnc;:.\fCr ~ t
. (A) '4"UlT Cf)UT q;y ~ (B) Q{141CbllSf q;r ~

(C) ~ ~ q;r ~ (D) ~ am '4"UlT Cf)UTq;r -3tf1i!l~ul

72 Which of the following diseases is caused by Mycoplasma ?
(A) Little leaf of Brinjal (B) Early blight of Potato
(C) Loose smut of Oat (D) Powdery mildew

lfl$riJ'<1/ITlf/ it; am ~ Cffi'fT -wr t
(A) ffi q;r ~ ~ -wr (B) ~"c6t ~ aM 1l1fr

(C) iifr· q;r ~~~ q;ua -(D) ~ ~

73 Symptoms of ergot disease appear in :
(A) .Inflorescence (B) Root
(C) Stem (D) Leaves

~-writ;~~lJCg~t
(A) 9)Eqa>'1 -q (B) ilf9-q
(C) ~-q (D) ~-q

74 A monocot fruit yielding fibre is :
(A) Cotton (B) Crotolaria
(C) Coconut (D) Corchorus
t~n~ ~ Cffi'fT lJ;CbifM lRfr 1:fRif t
(A) q;qm (13) ?fj}2j"M~ '17

(C) '11f{t!(i1 (D) q;NriJ~t1

- 75 Formation of embryoids from pollen grains in tissue culture is due to :

(A) Organogenesis (B) Double fertilization
(C) Test tube culture
i3'ffi'Ct) ~$t- -q qWi CbUn' -e-

(A) 13i11~CbR'I

(C) q {(SI'1~"1 ~.

(D) Cellular totipotency

~q;r~~t
(B) fg ~
(D) ~"JCtrq '{ufflqijdl
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, 76 Lysine is an essential amino acid because
(A) It is very rare
(B) It has high nutritive value
(C) It is an important constituent of all proteins .
(D) It .is not formed in the human body and has to be provided through

diet
i.ill~fu1 \IDCf~(.fC6 ~ ~. t- ~
(A) ~ ~'q t-
(B). ~ ~ ~ .~Ulq"dlmcftt-
(C) ~ ~ .~ Cf)l JOf~tcllul 'tgCf) t-
(D) ~ 11FfCf ~rm-it "1ff ~ t- om ~ IDU. 1J1'(f men t-

77 The specificity of a protein depends upon :
(A) Quantity in which it is present in the system
(B) Linear sequence of amino acids molecule
(C) Other proteins present in the system
(D) Time of its synthesis
M ~ cCrAAron ~ ~ t-
(A) ~ it ~ ~ lfBl1 q(

(B) ~. ~ ~\ffi t ~ mll q(

(C) ~ it ~ ~ ~ "If{

(D) ~ "{{~~ t.Wlc:r "If{

78 A nucleotide is :
(A) Thymidine '
(C) Uridylic acid
~ .:q:r#1q")RI~6 t-
(A) tll~~~1
(C) ~'"'{~~Cfl ~

,(B) Cytosine
(D) Glutamic acid

(B) ('II~i1«11
(D) li.{colftlCfl~

79 Which one of the following nucleotide sequence contains four
pyrimidine bases ?
(A) GCUAGAGAA (B) TGCCTAACG
(C) UAGCGGUAA (D) GATCAATGC
~ it ~ ~ "('\T ~'"'cRTtqIGI~6 mll it ~ fClll:ftlft1 ~. t- ?

(A) GCUAGACAA (B) TGCCTAACG
. .

(C) UAGCGGUAA (D) GATCAATGC

80 Pectic substances are generally stained with :
(A) Light· green. (B) Iodine
(C) Methylene blue (D) Cotton blue
.~ WttT ~ elJOflo:£fa: ~ ~ ~ t-
(A) ~ m (B) 3llqlil1
(C) ~.~ (D) "Cf)R:1"~.'
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81 In the process of osmosis :

(A) Both protoplasm and cell wall act ..as a single layer

(B) Only protoplast acts. as single layer

(C) Only cell membrane acts as a single layer

(D) None of the above.

q (1(1 (01··c6'r ~ ~

(A) iffiq~ClI am ~~ ~. ~ 1ffif ctT ~ .~ ~. ~
(B) tcwr· \l'11q~ClICf) ~ 1ffif c6'r ~ ~ 'Cf)"{ffi ~

(C) m ~m .~ ~. 1ffif c6'r ~ ~ 'Cf)"{ffi ~

(D) ~ ~ ~ 'fft'

82 Lenticels and hydathodes are small pores with following common attributes :

(A) Their opening and closing is not regulated

(B) They allow exchange of gases

(C) They always remain closed

(D) They ate found on the same organ of the plant

~ am ~ "f.§)Z ~ ~, ~ ~ ~A % m~
(A) ~ ~ am ~ ~ etuRtttl 'fft' ~

(B) <) 11m q)f ~f.:1~~~ ~
(C) <)~. ~ -m- ~
(D) <).~ % ~ tT ~ 1ft 1ITQ; ilfffi ~

83 The movement of water from one cell of the cortex to the adjacent one
in roots is due to :

(A) Accumulation of inorganic salts in the cells

(B) Accumulation of organic compounds in the cells

(C) Chemical potential gradient

. (D) Water potential gradient

I1f5T l) ~ c6'r ~ ~m ~ ~ .~ ~m l) \iRTf q)f TflR. ~
%~~ . ,

(A) ~mi3it if \:j}Cf)14PiCf) ~% ~ % cmuT

(B) ~mi3it l) Cf)14PiCf) ~ in ~ % cmuT

(C) . (1(1I~PiCf) ~ ~

(D) \iRTf ~ ~
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84. Poisons like cyanide inhibit Nat'.and K+' influx in cellular transport. This
.inhibitory effect is reversed by an injection of ATP. This demonstrates that :.
(A). ATP is the carrier protein in the transport system

(B) Na+ and K+ exchange pump operates in the cell

(C) ATP is hydrolysed by ATPase to release energy

(D) Energy for K+ exchange pump comes from ATP

f4ISf ~ ~ ('tlq11~6 ~~ q\1:Cl&1 .qNa+, K+ ~ q?r ~ ~ I
~ fcrUefr wqrq ATP if;' I3Rfm if; IDU . fclq~a Mi1fT ~ t
~ ~ffi CfffifT ~

(A) ATP Q\1:Cl&1 ~ 'it ~ miFf ~
. (B) Na+ cr K+ felPlJi~ ~.~m .q ~ ~ ~

I

(C) ATP ~ ~ em- if; ~ ATPase if; IDU ~ -3iQElf?a ~ ~

(D) .K+ ~PlJiq ~. if; ~ .~ ATP ~ ~ ~ ~

85 Azalia is used as biofertilizer because

(A) It multiplies very fast to produce massive biomass

(B) It has association with nitrogen fixing Rhizobium

(C) It has 'association with nitrogen fixing cyanobacteria

(D) It has .associationwith nitrogen fixing mycorrhiza

~~~~if;~.qm~~, ~

(A) ~~if;~~.~~~~~

(B) ~ N2 ~{\CbI{Cb O$IJf1Rililf if; m~ ~ ~. ~
(C) ~ N2 ~{\CbI{Cb ('t1*1),~PcR:\1:ql if; m~ ~. ~ ~

(D) ~ N2 ~{1CbI{Cb JiI~Cf)l{1~1i11if; m~ ~ ~ ~

86 NADPH2 is generated through

(A) Anaerobic respiration

(C) PS-I

NADPH2 I3NIRa ~ ~

(B) Glycolysis'

(D) PS-II

"(A) -3tCllqC!lq ~~

. (C) ~S~I

13/DRSPA_A]

(B) l~I~Cf)I~I~R·m

(D) PS-II
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87 '. The photon energy from sun to chlorophyll-a is transferred as follows

(A) Carotenoids - Phycoerythrin - Chlorophyll-a

(B) Carotenoids - Chlorophyll-b - Chlorophyll-a

(C) Phycoerythrin - Carotenoids - Chlorophyll-a

(D) Chlorophyll-b - Phycoerythrin - Chlorophyll-a

~ U Cfuihlfth~-a C1cf) ~ I£'lfi ~ 1'1htfht M ~
(A) Cb1f?:1'I~g - LfjI~Cf)I~f{~ - #ll{)j\n~-a

Cb"\~' "R '"\R(B) < l11~g - #lH.ll.jwl - #II (I \f)~-a

(C) LfjI~Cf)"\I~f{fu'1"- Cb<f?:11~g - eMl {)fth(fHt
(D) *'1 ()rq,~-b - LfjI~Cf)"\I~f{~ - #1'1flf4l~-a

88 . Emersion effect explains the phenomenon of :

(A) Transpiration (B) Absorption of water by roots

(C) Photosynthesis

~JOiHi '1 ~'l:fICf ~ Cfi«fT ~

(A) qlttflffillf'1

(C) ~~m~~

(D) Respiration

(B) ~ t IDU \jf(ff coT ~~~

(D) ~CR1'1"

89 In ETS at terminal oxidation; the cytochrome which donates electron to
H+ and also catalyses the addition of oxygen is :

(A) Cytochrome-b (B) Cytochrome-c

(C) Cytochrome-a (D) Cytochrome-a,

~Jl«I"1 ~1'11~<OI ~ if ~ ~1CR11q)<ol if, '81~i)~lJOi ~ fcn H+ coT e

~ Cfi«fT ~ a~ ~TCR1"l"j1'1t <:WT. coT 13~f{d Cfi«fT t ~~
(A) (,1I~i)~'IJOi-b (B) '81~i)~'IJOi-C

(C) '81~i)~"\IJOi-a

90 Viscum is a

(A) Total 'stem parasite

(C) Partial stem parasite

'~'~

(A) ~: Cf'1T q <1l11cO

(C) ~1Cfi Cf'1T q <1111en
13/DRSPA_A]

(B) Total root parasite

(D) Partial root parasite
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91 Who proposed Binomial nomenclature?
(A) Mendel (B) De Vries
(C) Darwin (D) Linnaeus
~--:-<n1l-~ ~ !IIRtqlRd ctT ?
(A) ~ (B) t1q ft~
(C) ~ (D) ~f*1t1~

92 Interbreeding animals belong to the same :
(A) Order (B) Genus
(C) Species (D) Phylum
~-m~~~~-qtTmq :
(A) ~ (B) ~
(C) Rtt(1~1jj (D) !'61~iilt:i

93 Coecervates were :
(A) Colloidal system formed during biochemical evolution
(B) Proteins
(C) Viruses formed in pre-biotic soup
(D) Macromolecules
Cf)"\1~4?,~ ~

(A) ~ <I~14~Ch fcIq;rn -q ~ ct>liill~t1 ~ ("ff?J)
(B) mtR
(C) ~~14IflCh ~ -q ~ ~
(D) ~

94 The correct sequence" of human evolution is :
(A) Australopithecus ~ Homo erectus ~ Cro Magnon ~ Neanderthal

~" Homo Sapiens
(B) Neanderthal ~ Australopithecus ~ Cro Magnon ~"Homo erectus

~ Homo Sapiens -
(C) Australopithecus ~ Homo erectus ~ Neanderthal ~ Cro Magnon

~ Homo Sapiens
(D) Australopithecus ~ Neanderthal ~ Cro Magnon ~ Homo erectus

~ Homo Sapiens
1lRCT t fcIq;rn -q "tiff ~ ~ .~

(A) ~ -7 ~ (f{CR:~ ~ R>"\1~4'1'1-7 ~~ -7

-wrr ~~4~
(B) ~ ~ ~ ~" R>1~~'1'1 ~ ~"q{CR:.~ ~

-wrr ~~4~
(C) ~ ~ ~ q{CR:~ ~ ~~ ~ R>1~~'1'1 ~

-wrr ~~4~
(D) ~ ~ ~~ ~ ~"\I~~'1'1 ~- "WI" q{CROtt ~

~ ~~4tt
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(B) ~ fi\,~~'i

(D) ~~ Ilta~~iibl

95 . Which of the following has only one host ?
(A) . Trypanosoma gambiense (B) Taeniasolium

(C) Plasmodium vivax (D) Entamoeba histolytica

~1l~~Tlf.6~~ ?
(A) ~~··ll(1"\I'tI ~

(C) "\iII\l;I'11f$<'I'i cll~~CR't

96 Leishmania donovani causes

(A) Oriental sores
(C) Malaria

~~I'iIf9<'11 $"\1'11q'1I~ ~ ~ t
{A) ~f{<'I;:C;(i1 ~

(C) 'ici1f{<'I1

•97 The size of ovum in mammals is
(A) 1-2 mm

(C) 30000 urn
~1l~q;{~~

(A), 1-2 mm

(C) 30000 urn

98 Lac is produced as' :
(A) secretion from body

(C) excretion from body

mtCI~~~~

(A) ~m~~
(C), ~mam i3ffiilf1

(B) American Leishmaniasis
(D) Kala Azar

(B) -31qf{iib1 ~~I'iIf9qlfufl

(D) iibl(i11\l;II<

(B) 50 urn
(D) 200 urn

(B) 50 urn

(D) 200 um

(B) excess oozing out of body
(D) faeces of lac insect

(B) ~m~~ ftfnq
(D) '(i1"RSf~ Cf>T 1i(i1'

99 Pearl producing species of mollusc is :

(A) Tridacana maxima (B) Mytilus viridus
(C) Solen kempi (D) Pinctada vulgaris
"Itft m ¢fRill ~ ~ ~

(A) ?:1~2t?sI11 liPcR:t'iI

(C) ~.~

(B) 'i1~R:(i1f1 fclf{Sfi

(D) fqCR:lgl q~lf{fI
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100 Overfarming and overgrazing marginal farmlands have caused

(A) increase in farm product

(C) increase in net income

(B) deforestation

(0) desertification

~ m€r ~ 'lf4 1:1\ .~ ~ o~ ~fatU (°1 "CID~ 'Sf'qJq ~ t
(A) ~ ~ -q it4cp1da (B) q~11"'l(i1'1

(C) ~ if .~ (0) ~ ,

101 Name the only country where both tiger (Panthera tigrisjand lion (panthera
leo) are found

(A) Uganda (B) Zaire

(C) Pakistan (0) India

~ ~ ~~TCfiT"f(lf ~ ~ ~ (~~ GWIf{e) i3fR 1m" (~~~)
zyn ~~ /~ .

(A) ~

(C) q IPcbtttl'1

(B) ~

(0) ~

102 The only poisonous lizard of the world is

(A) Varanus

(C) Hemidactylus

(B) Heloderma

(0) Chameleon

~ -q ~ ~ cffiift ~ \ll&{\JI fi.§4cfit'ft~ ~

(A) ~ (B) t)t'fl$'ii

(C) ~'i~iq=lI~(fH1 (0) ~~

103 Which of the following blood group belongs to the category of
universal donor ?

(A) AB (B) B

(C) 0 (0) A

~ -q -tr=r m \tfff ~ ~ GRIT "if M -q ~ t ?

(A) ~ (B) 1ft

(C) i3lT (0) -q
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104 The present rate of increase of human population is :
(A) 2.5% (B) 2%
(C) 3% (D) 4%

~ ~ 1i11ti(§q1 ctr ~ ctr ~ ~ ~
(A) 2.5% (B) 2%

(C) 3% (D) 4%

105 The number of organisms in a population are added by
(A) Immigration (B) Birth
(C) Both (A) and (B) (D) Emmigration
1i11ti&U ·it .mftrrm ctr "fiwn ~ B ~ ~
(A) ~~cll(11 (B) ~

(C) ~ (A) q (B) (D) -3if1:t11'"11

106 Presence of whole sets of chromosomes is called
(A) Haploidy (B) Anenploidy
(C) Euploidy

1rUI~?i'i~ ~
(A) ~"(iII<Olil

(C) ll'k'lI<Olil

(D) None of the above

(1!!'eq<Ol ctr ~ Cf>T~ ~
(B) ~t'k'lI<Olil

(D) i34gCffi it B CFiW ~

107· The process in which harmful chemicals enter the food chain and increase
in amount at level, is called
(A) Concentration (B) Biomagnification
(C) Succession (D) Expansion

. QIPlCf)I{Cf) {(1I<Ol'1"\j~ ~ ~ it ~~T, Cftff ~ ttIT ·lR '"I1'>I11fui ctr ~
Cf>T~~
(A) ~

(C) ~j¢6'"1ol

108 Functional unit of kidney is
(A) Nephron
(C) Bowman's Capsule

~ ctr !IICf)14Cf) ~ ~

(A) ~

(C) ~~

13IDRSPA....;A]

(B) Neuron
(D) Glomerulus

(B) ~
(D) JI:'1I~6\.Y1(1
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109 Normally blood clots iri :

(A) . 1-2 minutes (B) 6-10 minutes
~

(C) 12-16 minutes (D) 16-20 minutes

(11~l;:q ct: ~ Cfil ~ '5'f11ctl t -
(A) 1-2 ilFrG -il (B) 6-10 ilFrG-il

(C) 12-16 m -B (D) 16-20 ilFrG -il

no Covering of the 'lungs is called

(A) Pericardium 'CB) Pleura

(C) Perichondrium (D) Peritoneum

~~ i3lTq{Ul qIT' ~ t ,

(A) qflCf)I~4~ (B)
~.

(C) qflCf)i~~~ (D) q{k1~4~

111 In our body ciliated epithelium is found in :

(A) Ureter (B) Eustachian tube

(C) Vagina (D) Trachea

m ~rtR-il -q~ ~~tI3YCf)1.'I11

(A) 1"*:11fu.fi -il (B) ~"f(f'1 ~ -il

(C) ~-il (D) ~CJ 1{11Jl -il

112 Hair follicles are situated in the

(A) Epidermis

(C) Stratum Corneum

"Ull ~ ftmf m t

(A) ~Rlgf4{1-il

(C) ~ Cf)1f.f4~ -il
13fDRSPA_AJ .

(B) Dermis

(D) . Subcutaneous tissue

(B) ~-il

(D) {1il1~~f.l4{1 ~ -il
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113 Oestrogens are secreted by :

(A) Spleen (B) Testis

(C) Ovaries (D) Adrenal

q~~1 ~ -« ~ m- ~
(A) ~ (B) ~

(C) ~~rq (D) ~

114 Pituitary gland is under the control of :

(A) Hypothalamus (B) Pineal gland

(C) Adrenal gland (D) Thyroid gland

ftlqd) mq ~ t Pl4jful it ~ ~

(A) ~~ (B) tfIPl<:f('\ mq
(C) ~ 'mq (D) tll~{I<:f6 ~

115 The volume of urine is controlled by
(A) AD H

(C) Insulin
(B) Thyroxin

(D) Adrenalin

..T

~ cCr lfBrT ~ -« Pl4fSta ~ ~

(A) ~ ~ ~ (B) tll~{lRffl1

116 Major function of large intestine is to

(A) regulate release of bile

(B) secrete digestive enzymes

(C) absorption of water. and elimination of solid waste

(D) secrete water i~ order to regulate blood volume

~ I3ITa CfiT ~ 'C6T4' ~ ~

(A) itffl t ~ em Pl4fSta ~ ~.
1

(B) ql~c6\'1 q.'tIl~JOt ~ q;-clT ~
(C) ~ CfiT ~~iNUT qmft t 'd"~ iffi ~d ~ em ~ ~
(D) ~ cCr lfBrT q;) Pl4fSta m t ~ ~ ~ ~ ~
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117 Foramen magnum is an aperture found "in the :

(A) Femur of rabbit (B) Skull of rabbit

(C) . Lumbar vertebra of rabbit (D) Pectoral girdle of rabbit

!b"'IU&!1 ~ ~ -q ~ ~ CffiifT~ ~ :

(A) ~~l cCr ~ -q (B) ~~l cCr ~ -q

(C) . ~~l cCr ~ q;~"Wfi" -q (D) ~~l cCr .gftfUT ~ -q

118 How many cervical vertebrae are found in mammals?

(A) One (B) Eight

(C) Five (D) Seven

. ~~ -q ~,~{ClI~q;(if q;~"Wfi" ~ ""ijffift ~ ?

(A) ~ (B) \3llO

(C) ~ (D) ma

119 Deficiency of Vitamin K leads to

(A) failure of blood clotting

(C) anaemia

~C:11l11t(K) cCr Cfi1ft -« ~ ~

(A) TCfCf q)f ~ "1" ~

(C) ~41~1l1

(B) nephritis

(D) . sterility

(B) ~SfjI~Pc::~

(D) 1~~q;~1

120 Following trace element plays an important role for maintenance Of teeth

(A) Zinc (B) Fluoride .

(C) Copper (D) Manganese

~ ~~'iIISlq; "ffi'Cf ~ t {(Sl{(SlICl -q ~ ~ f.rqffi ~

(A) ~ (B) '#1')I{I~$

(D) ~
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121 Which of the following words is
'(A) Cruel
(C) Calm

close in sense to the word 'Timid' ?
(B) Foolish
(D) Cowardly

. 122' Which of the following words has been correctly spelt ?
(A) Diference (B) Driveing .
(C) Thaught (D) Taught

123 Which of the following sentences has in it the article 'an' correctly used?
(A) She is an M.P. 'from UP.
(B) This is an university of great repute.
(C) They have rooms in an unique house.
(D) Your brother is a, honourable person.

124 Which of the following sentences is correct in all respects ?
(A) They do not care for anybody's advices ?
(B) We are in no way inferior than them.
(C) My father has been ill from last Monday.
(D) I am senior to you by two years.

125 Which of the following sentences is in Present Perfect Continuous Tense?
(A) Lata has not cleared her debts.
(B) I am proud of my achievements.
(C) Mohan and Rama have earned more than 60 crores .this year.
(D) My father has been busy writing a novel since 2010.

126 Which of the following sentences has a correct use of Preposition ?
(A) You are not allowed to enter into my house.
(B) She will never adhere with her schedule.
(C) My father does not care of his family.
(D) Her mother is obedient to her husband.

127 Which of the following sentences has not used the correct method
of narration ?
(A) She said that she will realize her dreams.
(B) I told them that my help would be available to them at all hours .

. (C) You said that you would come out victorious.
(D) 'He told me that his visit to Allahabad was certain.

128 Which of the following sentences is an Interrogative Sentence ?
(A) Rakesh does not bother about his gains.
(B) I am all for the truthful and honest people.
(C) May he live long !
(D) What have you to say regarding your performance in the debate ?



.45 [Contd •.•

'\

Instruction : Read the following paragraph and answer the given below questions:

Advertisement stands for those activities by which visual or, oral
messages are addressed to the public with a view to informing them
and influencing them to buy an idea, service or ·product. The function
of advertisement is to attract attention, to stimulate interest, to rouse
desire and to secure sale.

Advertisements are made through all forms of mass media, but
the advertisements on T V are, most powerful and impressive. They
combine words and visual images and create a desire in the heart
of the viewers to buy a particular product in' preference to others.

A good T V advertisement must be eye-catching, original' and
sincere. For this the advertisers use beautiful models to display their
goods and products. They spend a lot of money in hiring the services
of popular filmstars to recommend various consumer goods. To make
the advertisements effective they are repeated very often. Variation
and change are introduced from time to time to keep them fresh and
attractive.

129 Why are advertisements on T.V most powerful and impressive?

(A) Because advertisements of a product on TV make it look genuine.

(B) Because both young and old people watch advertisements and serials
with equal interest.

(C) Both audio and video presentation of a product through an interesting
episode makes it attractive and desirable.

(D) None of the above

130 Which statement is not true ?

(A)

(B)
(C)

(D)

Even an unattractive TY advertisement makes a product popular.

A good T V advertisement must be eye-catching.

T V advertisements of the same product are repeated very often.
'>,

Advertisements for the same product are changed from time to time.

131 'To stimulate' means,

(A) To involve

(C) To revrve

(B) To recreate

(D) None of the above

132 Mark the option which carries the most suitable title of the passage :

(A) Craze for TV (B) III Effects of TV
(C) Effective Role of T.V Ads. (D) Role of Filmstars in TV. Ads.
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133 Which of the following options conveys the meaning of the statement,
namely, "All that glitters is not gold" ? .
(A) We should not ignore the advice of our elders.
(B) We should be alive to our social responsibilities.
(C) External beauty is of no avail in matters spiritual.
(D) Not everything that seems good or attractive is actually good

or attractive

134 . Which of the options, listed below, brings out the meaning of the statement :
'Revenge is a kind of wild justice' ?
(A) We should avoid taking revenge.
(B) Our sense of justice should be strong.
(C) Revengeful people are very dangerous.
(D) Revenge denotes the justice of a barbarous society

135 Which' of the options, listed below, conveys the real meaning of :
'Silence is golden' ?
(A) One must not be talkative.
(B) We should restrain ourselves from being boastful.
(C) It's often best not to say anything.
(D) People should avoid the habit of arguing unnecessarily.

136 Which option contains the real sense of the saying "Two wrongs don't
make. a right" ?
(A) If somebody does something bad to you, the situation will not be

improved.by doing something bad to him.
(B) We should be careful in taking revenge.
(C) Punishment for wrong-doing should not be very harsh.
(D) If somebody sincerely apologises for wrong-doing, the right thing is

to .forgive him.

137 'I am so tall that I can touch the ceiling.'
Mark the option which expresses the idea of the above sentence
(A) I am tall enough to touch the ceiling.
(B) I am too tall to touch the ceiling.
(C) I am enough tall to touch the ceiling.
(D) I am as tall as the ceiling.

138 Which of the following words is the synonym of" 'Frank' ?
(A) Callous (B) Candid
(C) Cruel (D) Civil

139 Which of the following words is the synonym of 'Tyrannical' ?
(A) Despotic (B) Inhuman
(C) Uncivilized (D) Cruel



140 . Which of the following words is the true synonym of 'Brave' ?
(A) Valiant (B) . Outspoken
(C) Eloquent (D) Honest

141 Which option means,
'a person who suffers
beliefs' ?

. (A) patriot
(C) reformer

or is killed because .of his religious or political

(B) freedom-fighter .
(D) martyr-

142 Which of the following words conveys the sense of 'Sadness' ?
(A) Melancholy' (B) Holiness
(C) Dissatisfaction (D) Sacredness

143 Which of the. following words means 'Gloomy' ?
(A) Depressing (B) Unhealthy
(C) Unclear (D) Suffering

144 Which of the following words means the opposite of 'Saintly' ?
(A) Savage (B) Cruel

I

(C) Sinful (D) Callous

I
. 145 Which of the following words is the Antonym of 'Traitor' ?

(A) Soldier (B) Citizen
(C) Patriot.' (0) Sentry

146 Which of the following words is the Antonym of 'Agreement' ?
(A) Discord (B) Discontent
(C) Disarray (0) Disenchantment

147 Which of the following words conveys the idea of 'Freedom' ?
(1\) Disharmony (B) Discord
(C) Tyranny (D) Independence

,
148 Which of the following words has been rnis-spelt?

(A) Writting (B) Coming
. (C) Flying (D) Catching

149 Which of the following, words is not correctly spelt ?
(A) Begining (B) . Cunning
(C) Deluding (D) Conferring

150 Which of the following' words has been correctly spelt ?
(A) Committee (B) Writ en
(C) Saught (0) Faught
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INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS
"W~-.ijt ~.~~4r

f.rhl

(Please use Black ball-point Pen) (fiVlIT Black ball-point V;r q;rm Clif)

....::::: USE BLACK &AU POINTPEN ONLY) .~. ....::::::: USE BLACK BALL POINTPeN ONLY) ~

1 Method of Marking Answers :

To answer a question, please darken
one bubble out of the given four, in
the OMR Answer Sheet against that
question.

2 Valuation Procedure : 2

There are four alternative answers to a
question, only one of them is correct.
One mark· will be awarded for each
correct answer, if more than one bubble
are darkened for a question, it will be
presumed that the candidate does not
Know the correct answer hence no mark
shall be awarded.

Cancellation or Change in Answer: 33

4

It will not be possible to change the
marked bubble with black ball-point
pen; therefore, correct answer should
be carefully chosen before marking it
on OMR Answer Sheet.

Handinaover of OMR Answer Sheet 4
to Invigilator :.

(i) Please ensure that all entries in the
answer sheet are filled up properly
i.e. Name, Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATESARE PERMITTED
TO CARRY AWAY THE
QUESTION BOOKLET WITH
THEM AFTER THE
EXAMINATION.

Care in Handling the OMR Answer 5
Sheet:

5

\

\

While using answer sheet adequate care
should be taken not to tear or spoil
due to folds or wrinkles.

1. ~ ~ *T ~:
\rel: ~ t .furQ ~. ~. \3fIT. \rel: ~lR:
-q ~trc'f ~~Of t m+R ~ Tf(} ~
~ -q ~ ~ ~ ~ riT ~.C6RiIl

~I

~'1 irnfu :
~ ~~Of t·~ ~~ \."ftR t', ~:
~. ~ .\rel: ~ % 1~~Of q)f ~ ~
~ m~~~ ~fC<'f ~I ~
~~~~~~\iffil%m
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